www.Padasalai.Net www.Trb Tnpsc.com

No. of Printed Pages : 11 1 1 b4 LE 7422

A udley eremr

MREARTAAN

PART - I1I
Caudlufwed/ CHEMISTRY

(58D wHmbd mdle aifl / Tamil & English Version )

&rev jema : 3.00 wewfl GHLbd | [ Qurss wHICLaTSET : 70
Time Allowed : 3.00 Hours ] ‘ [Maximum Marks : 70

Sidleyenrsst : (1) Smeansg edamés@sh #fwrsl ueurd o eTengm eranigeame sflurisgss
Qarererayid. @Fal1LSeNe @ampulmLider, iens samemestlLmerflLb
2 L amquwingg Glgiflalésealb.

(2 Beob oeg spUY owbloma WLLEGCL  TWHMUFDHGWD

23 5CaTg HausnHGh LwarUBSs GG, ULBSE aumasn @
Quendléd LwerL(hSSeLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOllY : Comeuwmen @L &Sl LILLD auenbgl, FLALTHSEMET 6T(LHGe,LD.

Note : Draw diagrams and write equations wherever necessary.

L@S) - 1/ PART -1
GOy : () Svensgl NamésEheHESL cflen L wefl&saLd. 15x1=15
() Qar@asiulBerer prer@ wrHm oL sald Wsab gHymLw
AL amws CsMboshss GHULGLar elaLlmanyb GCsisg

ET(LPS&LD.
Note : (i)  Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write
the option code and corresponding answer.
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2
&M : CurGenr feflafls spssb eramug CorGamdefalls Ligs cumass
&(h 2 GTTEwTLD.
SEUTLD CurGammfleflafls Ligs <ie@w9HE a # b 2 c C@ID a=y=90°
B # 90°.

(=1) sapmi 57 gemred sMyewd Soun).

(=) Sadml LHMID STrewrd Gram@n &M, CEId STreRTONETS FnbilbhsTe
sflwrer aferéawmELb.

(8) s=pmi LHMID STERTD @QraETHLn Seum.

(FF) Sabml LHMID sSrrewrd @ram@n &M <yearmd STyewToneTg SebHlhame
gflwrer afleTéswea.

Assertion : Monoclinic sulphur is an example of monoclinic crystal system.

Reason : For a monoclinic system, a # b # ¢ and a=vy=90°, B # 90°.

(a) Assertion is true but Reason is false.

(b) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

(c) Both Assertion and Reason are false.

(d) Both Assertion and Reason are true, but Reason is not the correct explanation of

Assertion.

K,[A(C,0,),] eramy Sienane s Camogdlen ITUPAC Quiwi
(<) QuriLrflud Lflev 2s5Cal Gm gsGerl (III)
(<) QurLrdlubd Leny d55Gal GLr jadlefun (III)
(@) Qurirrmflu Loy &5Cal CLr eslGer (II)
() Qumirmflun Cenr &FCal CLr oslGearl (II)
IUPAC name of the complex K3[Al(C,0,)5] is :

(a) Potassium trisoxalato aluminate (III)

(b) Potassium trioxalato aluminium (III)

() Potassium trioxalato aluminate (III)

(d) Potassium trioxalato aluminate (II)
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eneumHeleaeuhmer euelanwimer Sl 6rg) ?

(1) HBr (<) HI (@) Ha
Which of the following is the strongest acid among all ?

() HBr (b HI (c) HA

émeu(meuaTelDDIET sp? @enssaiiL| @oarsg eTgl ?
(1) Yobaoffe (<) EFmooenLil
() 2o uallésiig (rF) Sy oSe
Which of the following is not sp? hybridised ?

(a) Fullerene (b) Graphite

(¢) Dry ice (d) Graphene

RNA -efled srewriiti(hb Gfdliqer sryhiger :
(<31) evg GLrélem womib eguiLsle

(<) oo GLréler hmib ;g{l.q_GG)GUTdﬂ

(@) el CLrélem wHMD wyréle

(r) ens GLréler hmID @e6umenees

The pyrimidine bases present in RNA are :

(a) Cytosine and Thiamine

() Cytosine and Adenine

(c) Cytosine and Uracil

(d) Cytosine and Guanine

www.Trb Tnpsc.com
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6. g evidflen eremug :
(=1) CermCrr Quensmuis <8eib
(=) Sf e sraldlalsd <ydeib

(@) <psrafleds <fean

(F) Guensmuie smelldedls <yfetd
Aspirin is :

(a) chlorobenzoic acid

(b) acetyl salicylic acid

(¢) anthranilic acid

(d) benzoyl salicylic acid

7. Sl saLsgfed Quriirflud QuinrisCar oyarg <,éeTdls Sblosos
%5 P&FPCampd e wé Qsiidng.

(1) AHLCLi” (<) 2pdeGaL_

(@) 18186 sfleid (FF) smiueT el <y semen(H
In acid medium, potassium permanganate oxidizes oxalic acid to :

(a) acetate (b) oxalate

(c) acetic acid (d) carbon dioxide

8. jafldarmans =& qs udle Bl er elemariul () QsrRéEn eNener@Limmer
(1) p-ABCarm &L CLmICanmett
(<) o-2AAGerm AL CLmICammer
(@) S dlonl

() m-o0Gem L CLmICanmer

When aniline reacts with acetic anhydride; the product formed is :
(a) p-aminoacetophenone

(b) o-aminoacetophenone

(c) acetanilide

(d) m-aminoacetophenone
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SDésam_supmier ergl Brmh LGLLMLILITE ?

(=) Cemguwid @Garreny(® (<=,) Gamguitb LmiGol-

(@) @bGuwrafwd uriGor (/) bGwrefwb enplCri
Among the following which will not be hydrolysed ?

(@) Sodium Chloride (b) Sodium Formate

() Ammonium Formate (d) Ammonium Nitrate

Gemaumd Wansomsaie eranel (PN LOGTHEOBIGETTGLD ?

()

Ces&amepGe Wengmd (i) BHlEso-sriiflub e

(i) Ge GFollys seld (iv) Qwrgf WergeLb
(1) (i) LOYID (i) (<) (@) OB (iv)

(&) (i) wdpmid (i) (7F) (i) pmID (i)
Among the following cells primary cells are :

(i) Leclanche cell (i) Nickel-Cadmium cell
(ii) Lead Storage Battery (iv) Mercury cell

(@) (i) and (iv) (b) (D) and (iv)

(c) (i) and (i) (d) (i) and (iii)

7422

S CLrafladlmbg swGeamenanl fer o meur@ aflepar L9 6meu (e ered Hm6T

TEHHG FTEDTS 2 6Teng) ?

(1) e ymen seur Gamiy edlenen

(<=1,) sseui LGB ellenar

(@) smaeur Gailiy efenen

(rF) erev&Lymen seur LS eflavar

The formation of cyanohydrin from acetone is an example of :

(a)
(b)
(c)
(d)

electrophilic addition
nucleophilic substitution
nucleophilic addition
electrophilic substitution
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6

@ evander eflenanGeus wmBledud e iy 5.8x10~2 s~ erafled l6ueilenaudleor

eneouens :

(=) QreRwTLmbD euemns () Psod cuws

(8) epemprd euens (FF) ymw auems

The rate constant of a reaction is 5.8X10~2 s~1 The order of the reaction is :
(@) Second order (b)  First order

(¢) Third order (d) Zero order

WemenrhLEGSSeD permudad sriiLenys SNUeLWrEGadd [DemeHelaTeUDMIET 6rg)
Cririlereumurs QewudL@dng ?

() a6 ewr() (<) MU STOLF

(@) Wermiiged Wemeumi (FF) gnlenowby Srlium

In the electrolytic refining of copper, which one of the following is used as anode ?

(a) Carbon rod (b)  Pure copper

(c) Platinum electrode (d) Impure copper

@ elenenGaugommdluder CswoSmenear NHsfs@n Carwb

(<=1) CH;COOH () H,S (&) ALO, () As,O4
Activity of iron catalyst is increased by the compound.
(@) CH3;COOH (b) HS (c) ALO; (d) As,Oq

gflomu osanroseia wsAnCappsans podyman® o (meurEbd
BleanraudGaGu flevpey Qe LweruGb B&SRCamvlwureg, :

(1) Na,Cr,0O, (<) KMnO, (8) KCry0, [F) BEC
The oxidising agent used to stop the oxidation of primary alcohol at the aldehyde stage is :
() Na,Cr,O, (b) KMnO, (€) KCr0Oy (d) PCC
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L@3 - 11/ PART - I

GSOILY : aCsad Sum elamésenss elenweflésa,b. efen eTam 24 - 8@ SL_LMULONS

den_weflEseyLd. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16.

17,

18.

19.

20.

21,

STHMOOTE GPDID QUIMEHE GTETMITE) 6TETE ?
What is Calcination ?

Cumrfls Sllegens ereueury GuTyTer ebLer@ s OTHOIGITL ?

How will you convert boric acid to boron nitride ?

&h5% Sl em HiisEn small. n a@sgssT B Hneys.
Sulphuric acid is a dehydrating agent. Justify with an example.

Clurg <wefl elleatenct @ TOSHEST.HLET 6dl6TdEs.

Explain common ion effect with an example.

Fe¥t guaflsdr L flaoamwsaid yGrraweaL 4Grmblams «<,s0nCampin

S WwEF Qewiuwom ?

QsTRésiul Lg © E 0.771V

o
Fe3+|Fe2+ s

EBrler’ =109V

Can Fe3* oxidise bromide to bromine under Standard Conditions ?

Given : E;e3+|Fe2+= 0.771V

EO

By B 1.09V

Gamede L1 aflenemaniLl 6T(LPSIs.

Write Kolbe’s reaction.

[ Sipliys / Turn over
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22, Spssaneupdlen ewlieu erips)s.
a— D-gep&CarenuirCarmen OHMILD
B - D-g@p&GarenLirGanmav
Write the structure of the following :

a—D-glucopyranose and

B — D-glucopyranose

23. erdlir 2 ullflger eremmmed eresren ?

What are antibiotics ?

24. oNeeTeuans GTGIMITE GT6ITG ?

What is an order of a reaction ?

L@d - 111/ PART - III

GO : agCaeibd oymi alamésenée eflenwalldseyid. eSlem eream 33 8@ SLL_MULDIS
ellenL_wiefl&EHeyLb. Gx3=1t

Note : Answer any six questions. Question No. 33 is compulsory.

25. abedlwGHen LLIGTHE®ETS S(Hs.

Give the uses of helium.

26. Fe*t javgl Fe?t arg oidls Hlavalilg semeno 2 el Wil ? erem ?
Which is more stable Fe3+ or Fe2™ ? Why ?

27. @feflwunrag sasgy Apmrdl QuUTdps Semwidd LgsoTHng. <iger
2 Gaorg b 125 pm. SEE salgan edeflby Bardeomss sarsd(s.
Aluminium crystallizes in a cubic close packed structure. Its metallic radius is 125 pm.
Calculate the edge length of unit cell.
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<ifadeflwe swarum_igmen er(pd wfed @LbQupmerereipearp faTéEs.

Write Arrhenius equation and explain the terms involved.

Qupypliuriy saigd whmw Caudlyplurly swisd dwuepidler B
Qeutiuflener LHYID (WE55Hen elenerelemar efaTéEs.

Explain the effect of temperature and pressure on physisorption and chemisorption.

Crrleupse elleearenwl aflers@s.

Explain Knoevenagal reaction.

eflevenmi oiber, smiuem oL sdeL@LaT LAy clamamw erpsis.

Write the reaction of primary amine with Carbon disulphide (CS,).

QuienL @ GenentiiLy LbM AmiGoLiy euers.

Write a short note on peptide bond.

[Co(CN), CL]Cl ereitm yenemradleh Glemelmelameupenmsd Sam_Ms.
(i) IUPAC Quuwr
(i) emww 2 Cors ojwerf
(iii) ememTey GTERT
In the complex, [Co(CN), CL,]C], identify the following.
(i) IUPAC name
(i) Central metal ion
(iii) Co-ordination number
[ HmLiys / Turn over
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U@&) - IV/PART - IV
GOILY : JewenSg elamssEréEn el wellsseay. 5x5=25

Note : Answer all the questions.

34. (=) () saflob, 515 S Hweupdnd e Guiwirer Ceumuim(haeT wmrened ?
@ sruur ANECsHSsH Qeudeanuda Hassreder LIki@ 6TemaT ?
“ NNV

(=) () Curfls eifesdar Lwamaman 6pgs.
(i) &HeIFCaE_(Haer eranmmmed erevewT ?

() () What are the differences between minerals and ores ?
() What is the role of silica in the extraction of copper ?

OR

(b) () Give the uses of Boric acid.

(i) What are silicates ?

35. (=) OMBS@TLE GISSLD GTEDTE GTaie ? SiFEn ellanere|ser WITenal ?
9|6V60 5|
(<) @) @riev 2 lLseT OO Sanasre s Ceromiser Lpd AnEGDHILL er(psis.
(i) msseus Geonuld LLELHL @f emeamed Caiob wHML o ulflwe
(PEHWSFeULD eUTIbS Senanre)F CFTOD ELIDDISEE 2 STTETLD S(HS.

(@) What is Lanthanoid Contraction and what are the consequences of Lanthanoid
Contraction ?

OR
(b) (@) Write a short notes on double salts and co-ordination compounds.

(i) Give an example of Coordination Compound used in medicine and a biologically
important Coordination Compound.
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(1) ereflu sendegr Lgs siewlider Qudes Hpaman sarsd (.
LM
(=) @) A - efeverQuimgmer eremy Lo cuens ellenandgrean GgrenslLbHESSL-
UL Gaus effuliemar aumelléseyib.
(i) srusd Hmer - QU TILIMIGEE]LD.
(a) Calculate the percentage efficiency of packing in case of simple cubic crystal.
OR

(b) () Derive the integrated rate law for a Zero order reaction, A — product.
(i) Define buffer Index.

(&) @ srdeurals Bearse GO werpeowitt LibH eflerdEs.

i) Csreb® erewr - QUG TIWMIGS6LD.

ATV

() @ramen Gsrgeer LHH @GHIGL(LSS.
(@) (1) Explain about Galvanic cell notation.

(i) Define gold number.

OR

(b)  Write notes on Lucas Test.

(o) @) dfsearmi® olearssrralel®ps <flgs Sfob ereiarm
swurilssluEng ?
(i) W&GD LOLIGEET eTarmed eraner ? rHSHEHT(H H(HS.
360605

(<) GH,0 eranmm eumium® Qarewl aifling Cemwold (A) <yerg Zn-Hg/ @i HCI
2 Lar eflemenyflpg Ceimowb (B) -enwis gmémg). Ceirold (B) y,ang HNO, o L a
eflenanyfipg Gamow (C) (wgeme eflener@unmer) wHmd Gl (D) WS
smEngl. Coaib Garwibd (C) Yyarg i HCl o L ar elenar|flbg Cewoib (E)
(Fenowied eilaflsn) wHnID manlyréflabloas smEng. A, B, C, D wpmid B
pEweipenps samPbs GbHS ellenansamers S(ms.

(@) (i) How acetic acid is prepared from Grignard reagent ?

(i) What are bio-degradable polymers ? Give an example.
OR ,
(b)  An organic Compound (A) of molecular formula C,H,O reacts with Zn-Hg/Conc. HCl
to give Compound (B) which reacts with HNO, forming Compound (C) (as major product)
and Compound (D). Compound (C) reacts with conc. HCI to give Compound (E)
(Table vinegar) and hydroxylamine. Identify A, B, C, D and E with suitable reactions.

-00o0-
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